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UNIVERSITY OF NORTH BENGAL 

B.Sc./B.Com. Honours/General Part-I Examination, 2020 

ENVIRONMENTAL STUDIES 

PAPER-ENVS 

(FOR SCIENCE AND COMMERCE) 

Time Allotted: 1 Hour 30 Minutes Full Marks: 37.5 

The figures in the margin indicate full marks. 

1. Answer any five of the following questions: 

িনmিলিখত পাঁচিট  pেűর উtর দাওঃ 
rydk ik¡poVk iz”ug:dks mÙkj fnuqgksl: 

1 2
1 ×5=7 2

1

(a) Name two water-borne diseases. 
dিট জলবািহত েরােগর নাম েলখ। 
IkkuhckV lusZ dquS nqbZoVk jksxdks uke ys[uqgksl~A 

(b) In a forest eco-system who are the producers? 
অরণ ° বাstতেnt উৎপাদক েকানgিল ? 
cu ifjrU=ek mRikndg: dks gqu~ \ 

(c) A vast area of coastal West Bengal was recently hit by which cyclone? 
পিůমবেñর িবsীণ� উপkল এলাকা সmpিত েকাn ঘূিণ�ঝড় dারা আkাn হয় ? 
dqu pØokrys Ò[kZjS rVh; if”pe c¡xkydks fo”kky bykdk izÒkfor Ò,dks fFk;ks \ 

(d) What is the full form of WWF? 
WWF-এর পুেরা নাম কী ? 
WWF-dks iw.kZ :i ys[uqgksl~A 

(e) State the unit to measure the extent (intensity) of noise pollution. 
শbদূষণ পিরমােপর একক কী ? 
/ofu iznq’k.kdks rhozrk ukIus ,dkbZ (unit) ds gks \ 

(f) Write two anthropogenic activities that induces landslide. 
dিট নৃতািttক কারণ েলখ যা ɛিমধসেক সংঘিটত কের। 
ÒyiSgªksdks fufEr ftEeknkj dquS nqbZoVk ekuotfur fØ;kdyki ys[uqgksl~A 

(g) What is biofuel? 
�জব jালানী কী ? 
tSobU/ku (Biofuel) ds gks \ 
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(h) Name two lowermost layer of the atmosphere. 
বায়ুমčেলর dিট িনmতম sেরর নাম কী কী ? 
Okk;qe.Mydks dquS nqbZoVk loSÒUnk eqfu iusZ lrgdks uke ys[uqgksl~A 

(i) Define biofertilizer. 
�জবসােরর সংjা েলখ। 
tSoey ds gks \ 

(j) Which gas is responsible for Bhopal Gas Tragedy? 
েভাপাল গ°াস dঘ�টনার জন° দায়ী গ°াসিটর নাম কী ? 
Òksiky X;kl =klnhdks fufEr ftEeknkj dqu X;kl gks \ 

(k) What is the full form of AIDS? 
AIDS-এর পুেরা নাম েলখ। 
AIDS-dks iw.kZ :Ik ys[uqgksl~A 

(l) Name any two endangered species in India. 
ভারেতর dিট িবপn pজািতর নাম েলখ। 
Òkjro’kZek ikbus dquS nqbZoVk yqIrizk;% iztkfrdks uke ys[uqgksl~A 

(m) Name two components that cause air pollution. 
বায়ুদূষণকারী dিট উপাদােনর নাম েলখ। 
ok;q iznw’k.k xjkmus dquS nqbZoVk ?kVdg:dks uke ys[uqgksl~A 

(n) Which date is celebrated as ‘Earth Day’? 
‘পৃিথবী িদবস’ কেব পািলত হয় ? 
^iF̀oh fnol* dfr rkfj[k eukbUN \ 

(o) For conservation of which animal the Kaziranga National Park is famous? 
কািজরাঙা জাতীয় উদ°ান েকান ্  pাণীর সংরkেণর জন° িবখ°াত ? 
dkthjkaxk jkf’Vª; m|ku dqu tUrqdks laj{k.kdks fufEr izfl) N \ 

  

2. Answer any three questions: 
েয-েকান িতনিট  pেűর উtর দাওঃ 
dquS fruoVk iz”udks mÙkj ys[uqgksl: 

5×3 = 15

(a) What are the causes of man-animal conflict? Suggest any two remedial measures 
to curb the conflict. 
মানুষ ও বন°pাণীর সংঘােতর কারণ কী কী ? এই সংঘাত িনবারেণর dিট পdিত আেলাচনা কর। 
ekuo&tUrq la?k’kZdks dkj.k ds ds gqu \ ;Lrk la?k’kZykbZ esVkmudks fufEr dquS nqbZoVk 
mik;g:dks lq>km fnuqgksl~A 

3+2=5

(b) Discuss the adverse effects of deforestation. 
অরণ° িবনােশর pিতkল pভাবgিল আেলাচনা কর। 
cufouk”kdks nq’izÒkog:ckjs ppkZ xuZqgkslA 

5

(c) Write a short note on ‘Chipko Andolan’. 
‘িচপেকা’ আেnালেনর উপর সংিkp টীকা েলখ। 
^fpIdks vkUnksyu*ckjs NksVks Vhdk ys[uqgksl~A 

5
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(d) Write a note on Food Chain. 
খাদ°শৃðেলর উপর টীকা েলখ। 
[kk|là[kykekfFk ,mVk fVIi.kh ys[uqgksl~A 

5

(e) What is Green House effect? What are the causes and remedial measures of it? 
‘Green House effect’ কােক বেল ? এর কারণ এবং িনয়ntণ করার উপায় েলখ। 
gfjr?kj izÒko ds gks \ ;ldk dkj.kg: vfu mipkjkRed mik;g: ds gqu~ \ 

2+3=5

(f) Give a note on flood and drought with probable consequences faced by a country 
like India. 
ভারেতর মেতা েদেশ বন°া এবং খরা ও তােদর সmাব° পিরণিতর উপর একিট টীকা েলখ। 
Òkjro’kZtLrks ns”kys lkeuk xuqiusZ okM+htfur vfu [kM+sjhtfur lEÒkfor izÒkog:ckjs 
ys[uqgksl~A 

5

(g) Describe about a pond ecosystem. 
একিট পুkেরর বাstতেntর সmেn বণ�না কর। 
dwok ifjrU=ckjs fooj.k fnuqgksl~A 

5

(h) Mention briefly about the causes of biodiversity depletion. 
জীবৈবিচt° hােসর কারণgিল সংেkেপ উেlখ কর। 
tSofofo/krk {kj.kdks dkj.kg:ckjs NksVdjhek ys[uqgksl~A 

5

(i) Describe in brief the merits of using non-conventional energy. 
অpচিলত শিkর ব°বহােরর সুিবধাgিল সংেkেপ আেলাচনা কর। 
xSj&ijEijkxr “kfä iz;ksxdks Qkbnkg:ckjs NksVdjhek fooj.k fnuqgksl~A 

5

(j) Discuss the causes of acid rain. 
অmবৃিŶর কারণgিল বণ�না কর। 
vEyo’kkZdks dkj.kckjs ppkZ xuqZgkslA 

5

  
3. Answer any one question: 

েয-েকান একিট  pেűর উtর দাওঃ 
dquS ,doVk iz”ug:dks mÙkj ys[uqgksl~: 

15×1 = 15

(a) What is global warming? Briefly explain about different green house gases 
responsible for global warming. Discuss about harmful consequences of global 
warming. 
িবƬ-উŹায়ন কী ? িবƬ-উŹায়েন gীন হাউস গ°াসgিলর pভাব সংেkেপ আেলাচনা কর। 
িবƬ-উŹায়েনর kিতকর পিরণিতgিল আেলাচনা কর। 
Òwe.Myh; m’ehdj.k ds gks \ ;ldks fufEr ftEesokj fofÒé izdkjdk gfjrxg̀ 
X;klg:ckjs NksVks ppkZ xuqZgkslA Òwe.Myh; m’ehdj.kdks ?kkrd ifj.kkeg:ckjs ppkZ 
xuqZgksl~A 

2+5+8=15

(b) What are the sources of water pollution? How can it be controlled? What are the 
adverse effects of water pollution? 
জলদূষেণর িবিভn উৎসgিল কী কী ? কীভােব জলদূষণেক িনয়ntণ করা যায় ? জলদূষেণর pিতkল 
pভাবgিল আেলাচনা কর। 
tyiznw’k.kdks dkj.k ds ds gqu \ ;lykbZ dljh fu;U=.k xuZ lfdUN \ tyiznw’k.kdks 
nq’izÒkog: ds gqu \ 

5+5+5=15
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(c) Describe in detail the different components of a forest ecosystem. Discuss 
energy flow in a forest ecosystem. 
একিট অরণ° বাstতেntর িবিভn উপাদানgিল িবsািরত বণ�না কর। একিট অরণ° বাstতেntর শিk 
pবাহ আেলাচনা কর। 
cutaxy ifjrU=dks fofÒé ?kVdg:dks foLrkjek fooj.k fnuqgksl~A cutaxy ifjrU=ek 
mtkZizokgokjs ppkZ xuqZgkslA 

10+5=15

(d) What are the causes of population growth in India? Discuss the family welfare 
programme in controlling population growth. 
ভারেতর জনসংখ°া বৃিdর কারণgিল উেlখ কর। জনসংখ°া বৃিd িনয়ntেণ পিরবার কল°াণ 
পিরকlনার ɛিমকা উেlখ কর। 
Òkjro’kZek tula[;k of̀)dks dkj.k ds ds gqu \ tula[;k of̀)dks fu;U=.kdks fufEr 
ifjokj dY;k.k ;kstukdks Òwfedkckjs ppkZ xuqZgksl~A 

9+6=15

 
——×—— 

 


